1 000 D(2012/10/03): 0000 (1)
goooooo

00 1.1. IO ROOOODOOOD. 00 ¢:/—R?20 0000000000000 00,000
gboooo:

(i) cO C>-0O,

(i) vt e I, ¢(t) # (0,0).

oo d(¢)0,t0000 000000 OD0O0.00 (l)0,000000000 (0DODO,O
0000000000O0UO0)o0ooUooOoo.

0 1.2. 000000000000000O000:
(1) 00 ¢:R—R2:t—ta+b (000 a#0).
(2) 0 ¢c:R—R2:tw (rcos(t),rsin(t)) (000 r>0).
(3) C>~-00 f:R—RODOOO c:R—R2:t (¢ f(2)).

01.3. 00000000000000000000:
(1) 00 ¢:R— R?:t+ (0,0).
(2) c: R —R2:t— (12,13).

00000 ¢c00 ¢(J)0DO0OO0OOO0DOO0ODO. D0DO0OOO ¢(J)0,000000000
gbo,b00b0boobooon.

goodoooooad

00 1.4. 0000000000000 ¢:J—R20000,000000000 k.:I—-RO
goog,0bobgob o0 obod:

re(t) = det( (1), " (1) /1 (0) .

00000000, ¢t) = (2(t),y(t) 000000000000000000000000:

/ "
xr T 1o "1
/ y,,]:xy —Try.

det(c’, ") = det [ Y

0 1.5. 00000000000000,0000000:
(1) 00 ¢(t)=(t,0) 0000, ke(t) = 0.

(2) O ¢(t) = (rcos(t),rsin(t)) OO OO, k(t) =1/r.
(3) OO ¢(t) = (acos(t),bsin(t)) OO OO, ke(t) = ab/(a®sin® t + b cos? t)3/2,



2 000 D(2012/10/10): 00O O (2)
goood:oogoooo
oo, jgooooooooooon.

00 2.1.¢:/ —-R?200000000000000000. 0000, ¢:I—-R?>0 ¢ 0O
O000000 00000,00000000: 3g€ S0(2),3veR?: Ve, cat) = gei(t)+v.

gobobobud o 0ogoobboogoobbb. oo bbooooobboooon
0000,00 00 O000.0000000,00 SO(2)0 O(2)ooooooooO.

00 22. ¢:/—R20000000000000000,¢:I—>R20 00000000
000000. 00000000000 :

(1) 00000000000000000.
(2) 40 ¢,0000000.0000,000000: ke, = Fey -

goobooboobo,b0obobobo,bobobD —-1obgoo.

goodad:ooooooobobooon

goooob,0gbooobooboobobo. ggbbo,0bo0obooobooboon
goooooo,ooboogoog.

00 23.c:I—-R?00000000000000,¢:I'-100000 C>®-00000. 0
O0O0,cot0d ¢0 0000000 ODODOO,00000000:VselI',t(s)>0.

0000000 t=¢(s) 0 0000000 000000 OO0.

00 24. ¢: I -R*0000000000000000,cot:I’ -R20000000000
0.0000,0000000:

(1) 0000000 cot: I’ -R200000000000000000.

(2) D000D0000D00000000000.0000,Vs €T, ke(t(s)) = Feot(s)-



3 000 D(2012/10/24): 0000 (3)
ogoood: o0od

goobooboooboobobo,obboobbooboobobooboboobooob.

00 3.1. 0000000000000 ¢:/—R*0 000000000 00000,0000
oooo:vtel, |d1)] =1

gobooobogoobogooo,gbbooboooboboboobo.bg,bbooboon
gbooooboobbooboboooboon.

00 3.2.c: ] -R?2000000000. 0000 ¢c00000000O00O,00000000
000000000.0000,3t=t(s) (000000D0): cot000O0OOOOOO.

goobooboooboobobooboboobbo0o. obbooboboobooo.

00 3.3. 000000000 ¢(t) = («(t),y(t) 0000,0000 n(t) := (- (t),2/(t)) O
(0000)0000000 000,

00 3.4. ¢: ] -R200000000000000,000000: Vtel, d(t) = ke(t)n(t).

gogdad:oooooooboon

000,0000000 o) =(—y/(t),2/(t) 0000000000000.

00 3.5. 000000000 ¢t) 0000, e(t):=d(¢) 000. 0000, {e(t),n(t)} O
00000 (Frenet frame) 000

00 3.6. 000000000 ¢(t) 0000,000000: 2/(t) = —ke(t)e(t).

goooooogo

goo,gbbooboobobogboobbooboooboobooooba.og,boob
oooboobooboboobobooboobo,booboboooo.

00 3.7(0000C00O). 000000000, 000000:

(e n)=(e n)(/{c(zt) ‘*’"5(”).

00 3.8 (000000DO0ODO). 000 C*-00 k:I—-RO0O0OO,k0000000000
gobooobogo,bogoboobbooboooboon.



4 000 D (2012/10/31): 0O (1)

00 4.1 (0 10000000). 000000000 O0O0ODOO0OOO0ODOOODOOODOO,O00
goooob.ob,bboooboboobboobbo0. oobboo,obbooboboooboo
gooog,bboooboobobooboooobog.

gogodooood

00 4.2. DO R?0000000.00 ¢:D—R¥0 0000000000000 00,0
D00oo0do: (1) 0 C*-0, (2) V(u,v) € D, rank(Jp) ) = 2.

000 (Jo) e O Jacobi OOOODO. 0000 ¢y, ¢, 000000, Jo = (pu,p,) D00

0 43.0000000000000000:
(1) 00 ¢:R2 - R3: (u,0) —ud+vb+¢& (000 a0 bOODODO),
(2) C>~-00 f:RZ—=ROD00O0 ¢:R%2—R3: (u,v) — (u,v, f(u,v)).

044. 00000O0O0OOOOODOODODODO:
(1) 00 ¢:R? = R3: (u,v) — (0,0,0).
(2) 00 ¢:R?2 - R3: (u,v) — (x(u),y(u), z(u)).
(3) ¢ :R? = R3: (u,v) — (u?,u?,v).

00 4.5. ¢: 1 —>R2: ¢t (2(t),2(t)) 0000000000000000, () >0 (Viel)O
00O00. 0000,0000000 ¢:RxI—>R300000000000000 (000 2
0000000 000 000):

cos(u) —sin(u) 0 z(v) cos(u)x(v)
o(u,v) := [ sin(u) cos(u) 0 0 = | sin(u)z(v)
0 0 1 z(v) z(v)

0 4.6. OOOO0OO0OO0OO:
(1) 00 {(@,9,2) |2 +? = 1},
(2) 00000 {(2,9,2) |02+ y? + 22 = 11\ {(0,0, 1)}
(3y 0ooO



5 000 D (2012/10/31): OO (2)
gooooood

00 5.1. 0000000000000 ¢:D—-R¥0O000,0000000n:D—R30O
goooooo goo:

n(u, v) = (U, v) X @y (1, 0) /| pu(u, v) X Py (u, v)|.

000 pyXpyO,p. 0 p, 000000000. 0000, py Xpy O pu, pp 0000000
00000. 0000000000 |p,xp,|#00000000000.

00 5.2. 0000000000000 p:D—R3O0000,

(1) E = <pu7pu>aF:: <puapv>aG:: <pvapv> Oodooo ogo,
(2) L:= (pyu,n), M := (pyy,n), N :=(py,n) 0 00000 OO0,
(3)[|[|[|[|AD goog ooo:

E F\ '/ L M
A:<F G) <M N>’
(4) K :=det(A) 0 0O0DODO, H:=(1/2)tr(4) 0 0000 00O,

000000000000 E,F,GO0OO0O0O0OO00O0O00,0000000000. 0000
0,00000.

05.3. 00000 KOOODODODOO HOOOO,O00O0OOOO:
(1) 0ooooo, K =0, H=0.
(2) 00 r>00000000,K =0, H=-1/(2r).
(3) 00 r>00000000,K=1/r% H=-1/r.



6 OO0 D (2012/11/07): 0O (3)
gogod: gooouon
doooooooo, 000000000 oooooooooooon.

OO0 6.1. 901,¢2:D—>R3DDDDDDDDDDDD. 0000 00 (D00 0opoooon)
godddd,djgoogogd:
Jg € O(3) (0DOO Jg €SO(3)), Iw € R? s.t. ¥p € D, pa(p) = gp1(p) + w.

00 6.2. p1,90: D > R300000000000,0000000000000000 Ky,
Ko Hy, H,OOO.0OOO,

(1) g01|:| @2DDDDD,K1:K27H1::|:H2.
(2) o1 0 g, 0000000000, Hy = Hs.

goog,dgbboo,bboobooobogbobooobooobooboboooDoD.

goodd:oooboooobooon
goooobogo,bogoboobooboobboobboooboooboooog.

Ooad 6.3.<p:D—>R3DDDDDDDDD,&:D’—»DDDDDD c>~-gooog. ogoo
O,p0é0 0O OODOOOOO (DDD DDDDDDDDD)DDDDD,DDDDDDDD:
Vg e D', det(J€), # 0 (00D det(JE), > 0).

0000000 £E€=¢(¢)0 0000000 oooooooo.

00 6.4. ¢: D —-R*000000000,¢:D -—DO0O0O0O0O C®-00000. 0000,
pof: D' -R*0000000000ODODO.

00 6.5. : D -R300000000000,¢0é:D »R3O00000O0O0OOO00. OO
00000000000000 K, K, H, HO0OO.00O0OO,

(1) K' =K, H' = +H.
(2) 000000o0o0oo0ooooo0O, H =H.

gobog,0bboobogoobgd:

(7 &)=vave. (3 §)=-ve0m



7 000 D(2012/11/14): 0O (4)
gbobod:gggboboodaboo

0000 AO0,0000000 n(uw,v) J0O00D0OOO0OO. OOOOOUOOODOOO,0000
gbobogbogo.

o0 71. D0 R 0000000, C*-00 F:D—-R*"0pe D00 OO0 O0O0O0O000OO:
o1
(dF)p:Rm%R”:v»—>}1n(1)¥(F(p—|—tv)—F(p))

0000000000, 0000 (dF), D0000000000000000000, Jacobi
0o (JF),000D0.

00 7.2. 00 (dn)(uw) 000 span{py(u,v),p,(u,v)} 00000
00 7.3. —(dn) (e, e2) = (©u, po)A.

0000,0000 AOD,0000000 n0OO0O0ODO. 000000000 nOOOOO
goooooboog,boogg,oggoboboobbooooooobobobboooooobooboobo
googoobd.

gogodgd:oobboobbo

00000000000000000 E, F,G0,0000000000000.0000,0
0000000 ¢:D—-R3O0O000.

00 7.4.0 peDOO0O0,,:R2xR?-ROD0O0OO0O0:
[,(X,Y) = ((Jp)p X, (Jp)pY).

00 v75. 000 peDOOOOOOOOODODO:

(1), 0 R2oOoOoOooO.
(2) 000 X, Y eR?200O0O0O

L(X,Y)="'X < g(p)

0 76. 000 peDOOOD0DOOOODODODO:

E F
(1) ooooooo.
F G

(2) 0000 AODDOOOOO.



8§ OO D(2012/11/21): HEN (5)
gooogd
L0 RP000000000.0000,00 1,000 (00000000)000000.
00 8.1. 00 R?0 0000 000: (R?)*:={f:R2—>R:00 }.
00 8.2. DO0DOOOD w,v000 peDOO0O0,000000:
(du)p : R? = R: (z,9) =z, (dv)y:R? = R: (z,y) = y.
00 {(du),, (dv),} O (R®)* 000000,

00 83. 00 (R)*0 20000000000 000:

S2RYH* :={w:R*xR?—-R:00,000 }.
00 8.4. w,w € (R?)*0 000000 0ODODOODO:
wiws :RZXR? - R: (X,Y) = (1/2) (w1 (X)w2(Y) + w1 (Y)wa(X)).
0000 wwp € S*(R?)*000. 00 {(du)2, (du)y(dv)y, (dv)z} O S*(R*)* 000000,
00 8.5. 000000: I, = E(p)(du)? + 2F(p)(du),(dv), + G(p)(dv)3.

0000000 S*(R?)*00000.00000001:D—S%R?)*:p—1, 000000
0oo.

00 8.6. | = Fdu? +2Fdudv+ Gdv?* 0 000000 000,

goooouo
00000 L,M,NO,0000 A0OODODDOOOOOO.
00 8.7. Il = Ldu?® + 2Mdudv + Ndv> 0 000000 OOO.

0000000,0000000000,10:D— S*R*)*00000000.0000000
0A:D—End(R?) 00000000.00000,000000000.

00 88.0 peDOOOO,IL(X,Y)=1,(4,X,Y).

00000000000, End(R?) = (R)*@R?0 (R)*® (R?)* 000 1, 0000000
0o00,4,0 1L, 0000000000,0000000000.



9 000 D (2012/11/21): 0O (6)
godoooud: ouogooouod

oooodooooooOo,b0o00bO0o0 I0bObo0bo0 Noooooooo.oooog, ™
gobobobooooobobooooobb,bbboooobbbooo. obbbooooobobo
ooooobooooobooo.

00 9.1. 00000000000 f:(V4,{)1)— (Va,(,)2) 0 (00000000)0000 O
0000,00000000: VX,Y € Vi, (X,Y);, = (f(X), f(Y))2.

000,00000000000 (V,(,)0 0000 000.

00 9.2. ¢, : Dy — R, ¢ : D, - RROODDOODOOODODOO. DODOO, C®-000
¢:D;— D0 (000)000000000,00000000:Vpe Dy, (d€),: (R%,(11),) —
(R?,(I),) DODODOODOODOOO.

goboobooobooobboob,boobb0o obo obogoo.

00 9.3 (000000000). 00000000 ¢1:D7— R0 p:Dy— R2OOO0OO
00,0000000000000.0000,00000 ¢é:D,—-D,0000,000000:
VpEDl, (Kl)p:(Kg)g(p).

goo,00bobooboooboobbooooo.
0 94. 000000DOODOOO,00O00ODOODOOOODOO.

goo,00boboobogoboooobooboboooo.

ug

00 9.5 (0 20000000). 00000000000000 ¢(t) = (2(t),y(t) 0000, 0
0000 »-000000000000000 ¢(u,v) = (z(u),y(u),v) 0000. 0000, 00
c0000,00 ¢0000000000000000000000.



10 000 D(2012/11/28): 0OOOOO0O (1)
gogooood -od
000 MOOOO,C®M):={f:M—-R:C>®°}000.

00 10.1. C*-000 ¢:(-e,e) =M OOODO,000 MODO OO ODOO. 0ODO00OODOO,
0000000 d(0)0¢t=000 000000 O0O0O:

c(0): (M) = R: f > g(f oc)(0).

00 10.2. T,M :={c(0) |¢: 00, ¢(0)=p}0 MO pOO00 000 0ODO.

00 C*(M)—-ROO000,RO0000000000000000000O00000.
00 10.3. 0 pe M 00000000 (U,e) 00, ¢ = (21,...,2,)) 0000,000000:

TPM = span{(a%l)p, IR (82n )P}

000000, (52),: C®M) = R: f 2 (f oo ) (o(p)).

00 104. MO R*"O0000O0O0OOODOOO,O00 (x4,...,2,) 000000000000ODO:

T,M 3 Y ai(52-)p < “(a1,...,an) €R™

goooooog -0n
00 10.5. 00000 C*-000 F:M—-NOpeMOD 0OOOO (dF), 0000000:
(dF)p : TyM — TN : ¢(0) — (F oc)(0).
00 (dF), 0,00 ¢cO00000O0O0O0000,0000000000000000.

00 10.6. F: M — NO C>~-00000,peMOO0. 0O0,p000 MOOOODOO
(U, o= (21,...,2m)), F(p) 000 NOOOOOO (Vo = (y1,...,ys)) D00. 0000, O
ooooo:

(dF)p (X ai(go)p) = (Zbi (50 ) Fm))-
000, 'b1,...,bn) = J(@boFogp‘l)w(p) Hag, ..y am).

00 10.7. F:R™ - R*0 C>*-00000,peR™000. 0000, FOODOO0OOOOO
000 (dF), : T,R™ — Tpu»yR" 0,0000000 (DF),:R™ -R*0,00000000
oooo.
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11 000 D(2012/12/05): 0000000 (2)
gooog -od

00 11.1. M 000000, TM =[], 7,M000. 00 X: M —~TM 0O 00000 O
0000,00000000:VpeM, X, € T,M.

00, (U,e)0 p000000000, ¢=(21,...,2,) 000. MOOOODOOO X0OOO
0,000000:3f:U—Rst. X[y =3 fige.

00 11.2. M 0000000 X O UO00 C®00,00000000: 3f; € C°(U) st.
Xl =3 fige

0000000000 ¢*000000000,C®-000000000. MO0 ¢~-000
0000000 X(M)D000.
gooooodooo

00 11.3. 000 M O0O0O0,0000000 ¢0 000000 000:0 peMOODODO,
gp: T,M x T,M R OO0,

000000000000 0D00D00DO000,¢9: M —1]
0,7,MO000000000000000.

vert STy M). 000 S*T; M)

011.4. R"0000,0000000 g0000000: g,(3 ai(32)p, 2. bi(52)p) =3 abi.

00 11.5. 00000000 ¢:D—R*0000,000000 I= Edu?+ 2Fdudv + Gdv?
0 pOoOoOooooo.

Doood, (U O pO0O0ODOOOOO, ¢ = (21,...,2,) 000. 00000000
0,000000 dryde; 00000, 000, MOOOO00O0O0O0 ¢gO0000,000000:
HgijZUHRS.t. g’U:ngd-xzdxj

00 11.6. M ODODOOOOOO ¢gO U OO COODD,DDDDDDDD:ElgijECoo(U)S.t.
9|U=Zgijdxidxj.

0000000000 C*0000000000,C*°-0000000000.
0 11.7. R* 0000000000000 g=de?+---+de2 00000,
0 11.8. M :={(x,y) eR? |y >0} 0000,¢g=(1/y>)(d2x®>+dy?>) O M ODOODOOODO.

000000000000 (M,g) D 0000 0O00,RH200000.
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12 000 D (2012/12/12): 0OOOOOO (3)

0000,M 0O C*°-000000, (U,e) 00000,peU 00, ¢p=(21,...,2,m) 000.

gobggoobd -goboboboodao

0o0 12.1. feC>®(U)0000,00000000:
(1) Xex(U)oooo,Xf:U—-R:p—X,f,
(2) %:UHR:pH(%)pﬁ

00 12.2. X =Y &g, Y =Y ny5,- € X(U) 0 000 [X,Y]€X(U) 0000000
on; 9¢;
(X, Y] =22, (51‘ o a%j — a:ﬁj a?ci) :

goboboogobbooobobboooobbooooooo,ooobobbooobbooon
goooobo,0o0oboooboboobbo.booboobo,oooboobooo.

gobggoobogad

00 12.3. 0000000 (M,g) 0000,0000000 V: X(M) x X(M) — X(M) :
(X,Y)—VxY O D000 000 Levi-Civita 00 000 :

29(VxY,2) =Xg(Y,Z) +Yg(Z, X) - Zg(X,Y) + 9([X, Y], Z) + 9([Z, X],Y) + 9(X, [Z,Y]).

00000 Koszul OO ODOO. OODO g(Y,Z)ECOO(M)DDD (MBpng(Yp,Zp)E
R),l:ll:l Xg(Y,Z)D XO0O0OOoooooooooooooo.
00 12.4. 0000000 R: X(M) x (M) x X(M) — X(M) : (X,Y,Z) — R(X,Y)Z O,
oo0Oooooo (M,g)[l o00ooooooono ooo:
R(X,Y)Z:Z V[X,Y]Z—vayz—i—VyVXZ.

00 12.5. (M,g)000000O0O,00 T,MO2000000000.00000 0000
(sectional curvature) K, 0000000: K, =¢g(R(X,Y)X,Y),, 000 X, Y e X(M) O,
{Xp,Y;,}D cO0oooooOooooooon.

0 12.6. R* 00000000000 O0ODOOO0OO, R=0.
0 12.7. 0000 RH?000000,00000000 —-1000.
oo0oo0ooooo,00ooooooooogg:
X:y%, Y:ya%.

0000,0000000: [X,Y]=-X,VxX=Y,VyX=VyY =0.
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13 000 D (2012/12/18): oo oooO (4)
000000000 -00000

00000 XeX(M)O £eC®(M)0000,0000000000: C®(M)>Xf:p—
X,f. 00000 X:C®M)—C®M)0000.
00 13.1. 0000000000 ¥(M)O0O000,000000:
X(M)={X:C%M)—C®M):00 | X(fg) =X(f)g+ fX(g) (Vf,g € CF(M))}.

oo 13.2. X,YG%(M)DDDD,DDDDDDD [X,Y]DDDDDDD ooo ood:
[X,Y]: C®(M) = C®(M): f — X(Yf) = Y(XF).

00 13.3. 000000000 [X,Y]0,00000000000D000DOO0DOODOO.

00 13.4. 0000000000000000000:
(1) [X, Y] ==[Y, X],
2) [X,[v, 2] + [V, ]2, X]] + [2,[X, Y]] = 0,
(3) [X, /Y] = (XNY + fIX,Y] (Vf € C=(U)).

Levi-Civita DO O QOO

00 13.5. 00 V:X(M) x (M) — X(M) O Levi-Civita 00 0000000000000,
0Oooooo0Oo:

(1) VxY — Vy X = [X,Y],
(2) Xg(Y,Z) =g(VxY,Z)+g(Y,VxZ).

00 13.6. Levi-Civita 00 V: X(M) x X(M) — ¥(M)000000000:
(1) VixY = fVxY,
(2) Vx(fY) = (X/)Y + fVxY.

goooauo

00 13.7 (0 30000000). D:=Rx (—7/2,7/2) 00, g = a?cos?(v)du?® + a®dv?® O
00.0000,0000000 (M,g) 0OODO0,00000000 1/«200000000.

000000000,00 «e>0000 o:D—R* 0000000000000, 0000,
0000000000,0000000000. 00000,00 ¢:D—-R30000000,
oo0o00oo0O0o (D,)D000000000. 00D000O0DO0DO0,000000000DOO.
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14 000 D (2013/01/16): DOOODOOO (5)
ogoogog

0000000000 ROOODOD,D00O0 K,O ¢00000CD00D0OOOOCOO. OO,
00000000, X,Y,ZWeX(M)00O0OOO0O00OO0O0O000O.

00 14.1. 000OO0O0ODDOOODO RODOOOO:
(1) R(va):_R(Y>X)7
(2) g(R(X, Y)Zv W) = —g(R(X, Y)W7 Z)’
(3) fFRIX,Y)Z =R(fX,Y)Z =R(X,fY)Z =R(X,Y)(fZ) (Vf e C>®(M)).

000 (1) 000000, (2)0000,00 135(2)0000. (3)0000,0000000
0000 13.60000.

00 14.2. 0000000000 ROOOOOO: (R(X,Y)Z), 0 X,, Y, Z,000000.
0000, X,=X.,Y,=Y/, Z,=2,000, (R(X,Y)Z), = (R(X',Y'")Z"), 0000O.

gooboobooobooboooboobbo.oob,booobo gbooobooobo,
000 []O Levi-Civita 00O VOOOODOOOOO.

00 14.3. 0000 K, 0 o 000000. 0000, {X,,Y,}, {X,,Y,} 000 0 CT,M O

00000000000, g(R(X,Y)X,Y), =g(R(X',Y)X',Y"),00000.
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15 000 D (2013/01/23): 0OOOOOO (6)
gooooouooood

00oOd0Oo0oo0obOOobOo0bC lIoooooOobOo,0o0oogbOoboooooo,oo0oog
gbobooobogoboobbooboboooboon.

00 ¢:D—-R30000. 000,0000000 (D,I)0 Levi-CivitaO0O VOOOO
0. 000000000000 nO0OO0. OO0,R3 00000000000 (,)oOoo, 0O
Levi-Civita 000 VOOO. 000000 I0,()000000000000OO0. ODOOO,
DO oD)00000,¢D)00000000000D0O00 RRO0O0OOODODDOOOO0.

00 15.1. (D,I) 0 Levi-Civita OO VOOOOOOOO:
VxY :=VxY — (VxY,n)n (VX,Y € X(D)).

goog VXYD,ﬁxYDDDD (TD-00)000O0OO0. DOODOOOO,00 VOO
0O 13500000000000000000.

00 15.2. 000 X, YeX(D)OOOO,000000:

(1) VxY = VxY +1I(X,Y)n (Gauss 000),
(2) Vxn=—A(X) (Weingarten 00 0).

000, 10000000000, A00000000.00000000,000000000
o000 ROOODOOODOODDOO.

00 15.3. 000 X,Y,ZWeX(D)0D00,000000
(R(X,Y)Z,W) =X, Z)II(Y, W) — II(Y, Z)IL(X, W).

000 Gauss 000OO0O0D0. 000D, R* 00000000 0000000000, OO0
goboogobogooboobo,ogbbooboooboobboodbobooboonn.

00 15.4 (Gauss 000000). 00 ¢: D —R*0000000,0000000 (D)0
000000000.00000,0000000000000000000

00000000000000000000,00000000000,0000 AODOOOCO
000000000000 (ADDOOOOOODD). 000 det(A) 00000000000
0,00 Gauss 00000,00000
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